NOTES: Pythagorean Theorem
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Deals with the relationship between the side lengths in a 

                          RIGHT TRIANGLE


Sides A and B are both called ___legs_________

              Side C is called the ____hypotenuse_________

                                                           This side is always the ____longest______    

                                                           and it is opposite from the right angle.


The relationship that is true for every right triangle, as stated in the 

[image: image11.emf]Pythagorean Theorem, is:

Examples: Calculating the missing sides of a right triangle.
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Examples: Determine whether a triangle with the given side lengths is a right triangle.

**Pythagorean Triple:  Pythagorean triple consists of three positive integers a, b, and c, such that a2 + b2 = c2.
a)  7 in, 24 in, 25 in


b) 6 m, 7 m, 
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m

      c) 8 cm, 10 cm, 12 cm

72 + 242 = 252                                62 + 72 = 
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                         82 + 102 
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 12.8
Yes, it is a right triangle.              Yes, it is a right triangle.    No, not right triangle.
Examples: Application of the Pythagorean Theorem

A 24 foot wire is attached to an electrical pole.  If the pole is 20 feet tall, how far is the wire sitting from the base of the pole?  Round answers to the nearest tenth of a foot.  

                                 24
                                                            Draw diagram together. 202 + 242 = x
                                  x              20                  x 
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 31.2 ft.
The new flat-screen television your parents bought has a length of 36 inches and a width of 19.6 inches.  To the nearest inch, what is the length of the television’s diagonal? 
                                    36
                                                                Draw diagram together. (19.6)2 + 362 = x
                 19.6                                                         x 
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 41 inches
If the right triangle shown is an isosceles triangle with a hypotenuse that measures 18 cm, what would be the length of each leg be to the nearest tenth of a cm?


       x           18                            x2 + x2 = 182
                                                         2x2 = 324         x
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 12.7 cm
                                                   x2 = 162
                 x
Find the circumference and area of the circle below:

            First calculate r.
            Side MP = 12 in.

            52 + 122 = r2
            r = 13 in.

            C = 2πr                      A = πr2
            C = 2(3.14)(13)           A = (3.14)(132)

                                               C = 81.6 in.                 A = 530.7 in2
a2 + b2 = c2
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